895+ 5=

231900

375-8=

13.

460 +9 =

17.

3719+ 3=
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6.

854 + 3=

3715-0=

5153

10.

965 + 3=

968

14.

269 -4 =

18.

973 +8=

3.

1.

137 -7=

13031

976 +9 =

898

11.

885+ 9=

894

15.

650 -9 =

19.

981 -4 =

In de mix

746+ 1 =

8

902 + 10 =

12.

976 -3 =

16.

603 +8 =

20.

901+2=
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In de mix

1. 2. 3. 4.
9070-3=  854+3=  137-7=  T46+1=
286 857 13031
5. 6. 1. 8.
895+5=  375-0=  976+9=  902+10=

231900 a9(3) 598 935 409012

375-8= 965 + 3= 885+ 9= 976 -3 =

145 894 031073
13. 14. 15. 16.
460+9=  269-4=  650-9=  603+8=
17. 18. 19. 20.
379+3=  973+8=  98l-4=  90l+2=

© JuniorEinstein.nl Online oefenen | Educatieve boeken | Werkbladen | Educatieve materialen



